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2. 1000 el 3704 1h= @0]7t Ql5UtT. o] Qo]& 1271 AFelH, =0
dojit E Q9kz] kA Q.

> E. ke

> = 40009

B ~
(£):(A%)= 1000 : 3

"agt A o shd

1000:3 =] ]:12

3x[_]=12x1000

[ ]=12000=+3

[ ]=4000(9)




>
[> ®EgH 1318.8cm?

0.
1)

WA E0] 6om 011, 0]7} 12em 9 27)5e] AL 9475
o] Fol gt ol g9 RuE FohAe

LS

%

9l

(6x6x3.14%x12) - (1x1x3.14x12)
= 1356.48 — 37.68 = 1318.8(cm?)
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)= (5x 2 x 3.14) X 9 = 282.6( cm?)
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A o] Wol)= § x 8 x 3.14 = 200.96( cm?)
@) Yol)=8x2x3.14x[ |=5024x] |
Zylo]) = 200.96 x 2 + 50.24 x| | = 803.84

[ ]=(803.84 — 401.92) + 50.24 = 8( cm)
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(B9 B3)=(obal B 2))
3x3x3.14%x5=141.3(cm?)




